Subject: regress
Posted by mandrilhot on Tue, 25 May 2010 17:08:13 GMT

View Forum Message <> Reply to Message

I'm using the REGRESS routine to perform a multiple linear regression
of a set of data :

y_i=const + a0*x0 + al*x1 + ...
The SIGMA keyword, returns the errors of thea 0,a 1....a n-1
coefficients, but is there any way to estimate the error of the const

coefficient?

Thanks in advance!
J.

Page 1 of 1 ---- Cenerated from conp. |l ang.idl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=6163
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=30630&goto=71036#msg_71036
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=71036
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

